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QUESTION 1

completely in equal monthly instalments over 3 years. What was the amount of
each monthly instalment (to nearest cent).

a) Kathleen wants to buy a car costing $21000. She needs to pay 8% deposit.
i) How much money is required for the deposit? 2
iiYWhat is the balance owing after the deposit is paid? !
,//
b) Samantha takes a loan for $4000.. The simple interest rate is 12% pa.
How much interest must she pay if she repays the loan
i) After 3 years? 5
i) After 4 months? )
¢) Julia was charged 7.5% pa interest on a loan for $15000 which she repaid' 4




QUESTION 2

a) Celia invests $5000 at 7% compound interest for 3 years.
Interest is paid at the end of each year.

i)  Whatis the investment worth at the end of 3 years?

/

ii) How much interest did she earn in the 3 years?
e

b) Kathleen also invests $5000 at 7% compound interest for3
years. Interest is paid at the end of each month.

i) What is the investment worth at the end of 3 years?

e
/£

/

ii) How much interest did Kathleen earn in the 3 years?

¢) A computer costing $2500 depreciates at 30% p.a.
What is it worth at the end of 2 years?




QUESTION 3 5 ]
a) Helena is buying a car for $23000. 7.
She is required to pay a 20% deposit and then pay $460 per month '
for 4 years. j

i) What is the total amount paid for the car? 5
i) How much interest has been charged? 2

;/’

iii) Whatis the flat rate interest on the loan? Express your answer
as a percentage, to 1 decimal place.




QUESTION 4

a) Find the surface area of this rectangular prism in cm?

1m

b) Find the surface area of this pipe. It has an external diameter of 6
cm, an internal diameter of 4 cm, and itis 9 cm long. Answer

correct to 1 decimal place.

™
AW




QUESTION 5

a) Find the volume of this pentagonal prism.

b) Find the volume of this cone. You will need to caleulate the height first.

\

1

4— 12¢m ———>

¢) Find the volume of this sphere, which has diameter 8.2 cm, using V= %m?'

(Answer to 1 decimal place.)

!

/
I

<+— 82—>
cm - \




QUESTION 6 Show careful werking.

The Mrs McCookie Biscuit Company’s best seller is the Honey Crunchy. Thousands are sold
each day, so the company uses lots of honey. The honey is stored in a dispenser called a hopper

This hopper consists of a cylinder 3 m high and an inverted cone 2 m high. The cylinder and ’yhé
cone both have a radius of 0.8 m.

a) Find its volume in m’ (to 1 decimal place)

of honey“?

¢) With 2000 L of honey in the hopper, the cylindrical section is part filled with honey. To
the nearest cm, caloulate how far the level of the honey is from the zop of the hopper.

b) There is 2000 L of honey in the hopper. How do we know that the conical section is full. |

?




d) The hopper needs to be coated on the outside with enamel paint.
How many square metres need to be painted? (to 1 decimal place)

NB the top is closed.

34

LS

EXTRA WORKING SPACE (If you want this marked, write the number of the question clearly)
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QUESTION 1 . [
2) Kathleen wants to B & car Chelnpie2L000. She needs to pay 8% deposit. |
_ R i
i) How ruuch money is tequired for the deposit? ww
Flenp $20000 \ SR ,..
0-0F L2000 ) “
< %1680
-
{f)What is the balance owing after the deposit is paid? L
21000 ~ 1680 «\ ."
i ., I
= 410220 -V - e N }
' ' ”_.;. o 3 Lt i Y 4,_ ”
b) Samantha takes a oan for $4000. The stmple interestrate is 12% pa. 3
How much interest must she pay if she repays the loan "
I
i) After 3 years? \ >
Tz gz xBx 4000 \
T= g)440 .
) After 4 months? :\ a
L= §.0lx £000 XL 1k
* Fbuo _ _
"
¢) Julia was charged 7.5% pa interest an-2 Toan: for $15000. which she repaid Wa
_completely in equal moxthly instalments ever 3 years. What was the amount of |
each monthly instalment: (to nearest cent). ——
nkereed « O O.Am.x 1sCoo» m“ A0 4
-4 a3
Aoknl tragurt = <z TS
gl ir Em rer il (L ewpprndaoks. - D2 \ w
- ¥4
. amourtof each puonda(yy Instrlmond - \eEBTS AL
. = S0 42 Lnewerk cent) |

QUESTION 2

a) Celia invests $5000 at 7% compound interest for3 years..
Interest is paid at the end of each year.

i)  Whatis the fnvestment worth:at the end of 3 years?
A 5000 (140 0T)° _

5.&028%&983&&&%89 Fﬁ_uomuaﬁm.w
6 (255000 /.\
= $1125-22 (2

" ghbl2go|g

o) Kathleen also invests $5000 at 7% compound interest for 3
years. Interest is paid at the end of each month.

i} What is the investment worth at the end of 3 years?
A= 5000 { r,mmwv&
s $0164. 03  (245)

.

i) How much interest did Kathleen earn in the 3 years?

L6 62 ~T00D ,\

= Stz _ L20R
¢) A computer costing $2500 depreciates at 30% p.a.
What is it worth at the end of 2 years?

A= 2500 ( |-02)* ,\
= $1225
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E Find the votume of this pentagonal prism. |
\ = ah
a= 4s o
s V7 asx/o
= 450 Qs.w

w_\

QUESTION.6 Show careful working- l 13

b) Find the volume of Tiis cone. You will need to caleulate the height first.

W 672107
[:Z = o6
£ 3 @2.

" 10cm 2h =2 tm

Ve gty (% B
fom = Qe e

- Zo1.64 end {280

“«—— 12em —>

, ¢) Find the volume of this sphere, which has diameter 8.2 cm, using V= .M.ﬁu
‘{Answer to 1 decimal place.)

. €T
v 3

= NT.K‘_,_..K .»\._.W g\

z A
52— n%ml...gﬂl.w:,m.nv

«288.7 e’ (1dP)

IS

The Mrs McCookie Biscuit Coropany’s best seller Is the Honey Crunchy. Thousands are sold
each day, so the company uses lots'of honey. The honey Is stored in a dispepser called a hopper.

\ 3
This hopper consists of a cylinder 3 high and an inverted cone 2m high. The cylinder and e mmﬁ\
cone both have a radius of 0.81"
) Fiund its volume nm® (to I'Gecinial place

v

Ve <@2®
NUEE N

Tk DBY3 \
&= ozl
m =3

3
L R @
0.8m b ﬁ @
. = 0.blTr

3
H D N = Az 0bT
om - 2561

e = gom (1d¢)

: ﬁ_@
by There is 2000 L of honey in the hopper. How do we know that the conical section is E.D
of honey?

«R%Ré@i;?%?s@ﬁ p.o:?x%b%im?ofﬁqr wo;r%
Longg od 15 fuertfore fulls -

. . 1/
c) With 2000 L. of honey in the hopper, the cylindrical section. is part filled with honey-To  J
+he nearest cm, calculate how far the level of the honey is from the top of the hopper.
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